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@® 4x+2x=3x+5x @ 5x-3=x(x-4)
® 2x+4-3(x-1)+4x @ 2x+3=2x(7-4)

® 3(x-3)=2(x-2)
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© 2x+7=3+2x-7 @ 3x+8=3(124+x)+2
@ 3x-5+2 @ Ax-2=2-4x

® 8x—-4>8-4x
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3x+8=-10
3r=—18
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@ x+(x+1)+(x+2)=57
@ (x-1)+x+(x+1)=57
® (x-2)+x+(x-1)=57
@ x+2x+4x =57

® x+(x+2)+ (x+4) =57
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O -10x+2 @ -10x-2 @ 10x+2

@ 10x-2 ® 10x-10
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14. x99 gol -3<x<3

A A4 o, o] F Si7F gl A2
D x-1=3(x+1) @ -2x+3(x+1)=4
@ Sx+d=2(x-1)

@ 3(%)6—1):3()“_1)
® 4x+2=4-2x



5(3—ax) —7x = 8x— b 7} x o Wt AAFA o] H7] gt 27
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Da=-3 @ a#-3 ® b=-15
@ a#-15 ® b#-3



16. AAPTAHA ax+12 = 6x 9] a7} APFA] 4(x-2) = 3(x+1) - 12
o] siof 3 uid wf, & a o A2?

@ 6 @7 ® 8 @ 9 ® 10



